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1% Traverse: recursive traversal of a graph */
void Traverse (int v)

{

int w;

visited [v] = TRUE;
Visit(v) ;
for (ail w adjacent to v)
it (!visited[w])
| Traverse (w);

/* BreadthFirst: perform breadth-first traversal of a graph. */
void BreadthFirst{Graph_type G)

{

Vertexqueue_type Q;
Boolean_type visited {MAX] ;
int v, w;

for (all vin G)
visited [v] = FALSE; |
Initialize (Q) ; /* Set the queue to be emply.

for (all vin G)
if (1visited(v]) {
AddQueus (v, Q);
do {
' DeieteQueue (v, Q);
visited [v] = TRUE;
Visit(v);
for (all w adjacent to v)
if (Vvisited[w]) -
AddQueue{w);
} white (1Empty(Q));
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#define INFINITY
#define MAXNODES
#define MEMBER 1
#define NONMEMBER O
shortpath (weight, s, t, pd, precede)
int weight(J(MARXNODES]:
int s, t, *pd, precedel}]:
{
int distance[MAXNODES], perm{ MAXNODES];
int current, i, k, dc:
int smalldist, newdist:

/* Initialization =*/
for (i = 0; i < MAXNODES; ++1) |
perm{i] = NONMEMBER:
distanceli] = INFINITY;
}  /* end for =/
permis] = MEMBER:
distancels] = J:
current = s;
while (current != t) |
smalldist = INFINITY:
dc = distancef{current}:
for (1 = 0; 1 « MAXNODES; i++)
if (perm(i] == NONMEMBER) |
newdist = dc + weight{currentl(i]:
1f (newdist < distancelil}) |
/* distance from s to i through current is x*/
/ * smaller than distanceli) * /
‘distancel(i] = newdist-
precede(i] = current:
} /* epnd if */
/* determine the smallest distance */
if (distancel{il < smalldist) {
smalldist = distance(i];

K = 1i:
] /* end iIf =/
} /* end for ... If =/
current = k:

perml{current] = MEMBER;
I /* end while =y
*Pd = distancel(t];
/* end shortpath =/



